
1 PD Assessment 3
N=6

2 SD, 4PD 

Baseline
N=25

Assessment 1
N=20

1 PR, 5 SD, 14 PD

Assessment 2
N=13

6 SD, 7 PD

1 PR, 5 SD 14 PD

2 PD

4 
withdrawn due to 

clinical PD,
1 due to AE 

(subsequent PD)

1 
withdrawn due to 

AE (subsequent 
PD)

3 SD

1 SD, 2 PD

5 PD

5 
withdrawn due to 

no bene�t

3 SD

1 
withdrawn due to 

AE (subsequent 
PD)

1 SD, 1 PD

1 
withdrawn due to 
AE (ongoing SD)

6 
withdrawn due to 

no bene�t  

2 
withdrawn due to 

no bene�t

1 
withdrawn due to 

no bene�t

1 
withdrawn due to 

no bene�t

Assessments 4 & 5
N=2

1 PR, 1SD 
1 ongoing PR 1 ongoing SD 


